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SOCIAL WORK
PAPER -1I

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions

are compulsory.

Ty

The social order is maintained largely by :
(1) Division of labour (2) Law {
(3) Socialization (4) State [ f

Which is the smallest agency of informal education ?

(1) Community (2)  School (3) . Family \ (4) Religion
*

f i
Which one of the following is not social group ? | |
! |

/
(1) Committee of advocates discussing some issue‘

(2) Executive committee of labour union :
(3) Board of management of an In%titution -’
(4) A horserider, cyclist and walk}\ng“person on the street

- L

i

Which one of the followingris not the part of hierarchy of needs described by Abraham
Maslow ?

(1) Safety needs !i' (2)» Esteemneeds (3) Cognitive needs (4) Normative needs
L

Which one of the following is not a part of ethics of advocacy ?

(1) Actin acg'ordance with user’s, wishes and instructions.
(2) Actin the :bfst interest of service users.

(3)  Non-recognition of the limits of service users.

4,

4) _ Keep the user properly informed.

Wine:n number of samples is more than two but it is neither certain nor decided in
advance, this type of system often referred as :

(1) Sequential sampling (2) Cluster sampling
(38) Judgement sampling (4) Area sampling
o [N : Fapec
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7. Which one of the following scales used to assess a student’s rank in the class ?
(1) Ordinal scale  (2) Nominal scale (3) Interval scale (4) Ratio scale
8.  Learning by imitating others behaviour is called and the researcher best known
for studying this type of learning is
(1) Observation - Bandura (2) Secondary - Pavlov
(3) Observational - Watson (4) Secondary - Skinner .
4
9.  Which of the following is/are part(s) of Sustainable Development Goals ? { 3
(a) Consumption (b) Climate !
() Crime (d) Food ) ¢
Find the answer from the code given below : i !
Code : é-" ' ‘} : {
(1) (a) and (b) only (2) ’( ), (b) and I-(d) only
(3) (b)and (d) only @ /@), () (© and (@)
10. Which one of the following is a feature of Hindu M!;({age Act, 1955 ?
(1) Inheritance (2) Medical Termif{lation of pregnancy
(3) Divorce o “(4) Adoption
- d_.i'
11. Which one of the following Q(Eeé not refer to digital convergence ?
(1) Information Technology (2) Consumer electronics
(3) Telecommunic‘a;ions (4) Exposure to languages
L
12.  Which one of the following rights was described by Dr. B.R. Ambedkar as the heart of Indian
Constitution? 4
/(1) Right to constitutional remedies (2) Right to property
(3) Rightto e::lalit]y (4) Right to freedom of religion
13.  Which among the following was distinguished feature concerning religion between Brahmo
Samaj and Arya Samaj ?
(1)I'a Anti-idolatory
(2) ¥ Anti-ritualism
(3) Sreparation of social evil from religion
(4) Equal status to all religions
o[|[RIV ‘ Fapec
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14. Which of the following principle(s) is/are followed in Gandhian Social Action Model ?

(a) Principle of single strategy (b) Principle of dramatization
(c) Principle of dual approach (d) Principle of legitimization
Find the answer from the code given below :
Code :
(1) (a), (b) and (c) only (2) (b), (c) and (d) only
(3) (a) and (d) only (4) (a), (b), (c) and (d) ¢
rd
15. Who are debarred from receiving foreign contribution under FCRA, 2010 ? r
(a) Employees of any corporation
(b) Member of any legislature . "
(c) Publisher of any registered newspaper _ & { HE-
(d) Hindu undivided family /f' # |
Find answer from the code given below : ..'f . |'I
Code : / I
(1) (a) and (b) only 2| (@ an(! %gq only
(3) (), (b) and (0) only ) (@), ©), (o) and @)
Y (
16. Which of the duty(ies) has/ havgbeéfn prescribed by Indian Constitution for the Citizens of
India ? 'y <
(a) To develop scientific temper
(b) To preserve rich heritage of our composite culture
(c) To minimise ingome‘inequalities
(d) To defend the clountljy
Find the ansvyerl from code given below :
Code : d:
(1) () only f \ @) (a) and (b) only
(3) (), (b) and)(d) only (4) (@), (), (c) and (d)
17. What is the chafacteristic of modernization ?
(1)|'-. Migration
(2) Tfl. Social mobility
(3) Srtriving for self-dependency
(4) Change in social values, objectives and aspirations
o [N 6 Fapec

www.examrace.com



14. Tr=fafea § @ foea/fe fagrma/ fagma &1 e amfsen foran gfaam & aem fea T g2
(a) Tehed T <1 TG (b)  TEhIhTUT T THGT
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= feu 7T %2t HeEdr ¥ W A
e
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4
16. A ¥ WANA 3 AR A Wl Frefertas § 4 # A wder Fuifa fare 32
(a) STk | ferenfad dh{_ﬂ_l]t -
(b) TR THell-Seit T&hid ot T95 TR Hl TR T
(c) I Geidht STHAAL ] =[TdH HEAl
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1 ST T Fe ot Herar ¥ W A
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18. The principle(s) of Social Group Work are :
(a) Principle of planned group formation
(b) Principle of continuous individualization
(c)  Principle of resource utilization
(d) Principle of evaluation
Find the answer from the code given below :
Code : \ p
(1) (a), (b) and (c) only (2) (@), (c) and (d) only { ,11
(3) (@), (b) and (d) only 4) (@) (b), (c) and (d)
19. ‘Trusteeship Theory’ of Trade Union was advocated by i . !
(1) N.M. Lokhande (2) B.P. Wadia (f}‘. MK, Gandhi ., (4) G.L. Nandha
/ -'I
20. Under whose Prime Ministership the Second| National Labour Commission was
constituted ? / [
(1) Atal Bihari Vajpayee (2) Viswandél Pratap Singh
(3) P.V. Narasimha Rao " k(4) Rajiv G?naﬁi ‘
4/ '
21. Participant observation is idea}l;i stited for the study of :
(a) Tribal culture - (b) National culture
(c) Ethnographic study (d) Phenomenon of globalization
Code : { -~
(1) (a), (b) and (c) only { (2) (a) and (c) only
3)  (a) and-(ca only (4) (b) and (c) only
= \
22." Robert Redfield kfas rlflentioned which of the following qualities of little community ?
(a) Distinctiveness (b) Small Size
(O f Homogengity of inhabitants (d) Dependence on other community
Find answer from the code given below :
Cokdé :
(1) - (@) and (d) only (2) (a), (b) and (c) only
(3) (@) (¢) and (d) only 4) (@) (b), (c) and (d)
o [N ; Faper
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18. fr=Afafaa o & o1 gmifes aqe +1 & fagra €2
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i i
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3) it e . (4) mﬁarn;ﬁ
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(3) 4 (a) FR () (4) Fd (b) ¥R ()
2/ wéi@qﬁ—s'ﬁﬁ%ﬂﬁﬁmﬁﬁtﬁff@ﬁﬁ@mﬁrm/mwaﬂwmﬁw%?
(@) _faferea (b) Bl RN
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23.  Which among the following is/are “ascribed status’ ?
(a) Profession (b) Caste
() Gender (d) Religion
Code :
(1) (a) and (b) only (2) (b) and (c) only
(3) (b), (c) and (d) only (4) (a) and (c) only
f
24. Which of the following is/are method(s) of getting people’s participati?ﬁ in a
community ? / -
(a) Transect walk
(b) Non-formal interview : v
(c) Social and resource mapping / & f
Find answer from code given below : /,/ 2 li
Code : 4 !
1) @ @®and@ @ @ony  [() (b)only (4) (a) and (b) only
25. In Karl Pearson’s coefficient of correlation the value q% 1’ nearer to +1 or —1 indicates :
(a) No association between two Va{iables { -
(b) Positive correlation only { h
(c) Negative correlation onlef‘:‘ L)
(d) High degree of positive-or negative correlation
Choose the answer from the code given below :
Code : !i' -
(1) (a) only w | (2) (a), (b) and (c) only
(3) (d) only | (4) (b), (c) and (d) only
|
26./ Which of the folfiwiiqg is/are part of the Saul Alinsky’s Model of Social Action ?
(a) Attacking the person who heads the establishment
(b) Inducing anger and hate
(c) F Destroying the individual who holds power
Find answer from the code given below :
Code :
(1) : (a) only (2) (a) and (b) only
(3) (a) (b) and (©) (4)  (b) only
s AT 1 Fapec
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23. Tr=Afafea § 9 feaest/ femert ‘e fefa’ €2
(a) SR () (b) ifa
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Fe
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() HITSH 1 g T AR W AHTF
(b) T SR g I ARYRET B
() I Ho=t B @1 Sate H
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Fe !
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27.

28.

29.

N-01017 ‘m““"“"m“

Assertion (A) : Social stratification is an arrangement of social groups into hierarchy of
position.

Reason (R) : Social stratification is unequal with regards to powers, property, social
evaluation and psychic gratification.

In the context of the two statements, which one of the following is correct ?

Code :

(1) Both (A) and (R) are not correct. ¢

(2)  (A) is correct, but (R) is not the correct explanation of (A). { ’
(3) Both (A) and (R) are correct and (R) is the correct explanation of (A). [
(4) Both (A) and (R) are correct and (R) is not correct explanation of (A).,

Assertion (A) : Transnational perspective is eded for effective combatting of social
problems of modern world. ,

Reason (R) : Poverty and hunger problems need global joint actions.
| ¥

In the context of two statements, which one of the f%l:?hing is correct ?
y

r
J

F
Fd

-

(1) (A) is correct but (R) is not cortiggt. (
(2) (A) is not correct but (R) mﬂco_ﬂ?ect.

l
(3) Both (A) and (R) are rldt correct.
4)

Both (A) and (R) are correct and (R) is the correct explanation of (A).
{
Assertion (A) :; After thd 1928 world conference of social workers held in Paris, an
| international cooperation of national associations was formed that later

“ 4 become the International Federation of Social Work.

-

Reason (R) : he purpose of International Federation of Social Work is to achieve a Socially
Ai;st World through professional social work.

In the context of the two statements, which one of the following is correct ?

Code : .|

(1), (A) and (R) are correct and (R) is the correct explanation of (A).

2% (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A) is correct and (R) is not correct.

(

4)  (A) is not correct and (R) is correct.
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30.

31.

32.

Assertion (A) : The emphasis on ‘person-in-situation” is to understand and help the
individual client better.

Reason (R) : The person in situation configuration is subjective.

In the context of the two statements, which one of the following is correct ?

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A). "

(3) (A) is true, but (R) is false. \

(4) (A) is false, but (R) is true. {
f r

Assertion (A) : Social action and social legislation are complimentary to each other.

Reason (R) : Social action often highlights the need for new laws. 2

In the context of the two statements, which one of the _followir{g is éliorrect ?

Code /“’ P
(1) Both (A) and (R) are not correct. / |
2)

(3) Both (A) and (R) are correct but (R) is not the%cor rect explanation of (A).
4) H/x

Both (A) and (R) are correct and (R) isl’lthe cotrect explanation of (A).

(A) is correct but (R) is not correct. : }

F
Fd
-

Assertion (A) : Social dysfunctions Pt potent1al1t1Js to affect social functioning adversely.

Reason (R) : Dysfunction 0&111&5 in the interaction between different systems or social
ills. i. i

In context of these two statéments, which one of the following is correct ?
Code : .

(1) Both (A) and (R) are not correct

(2) Both (A)and (R) arelcorrect and (R) is the correct explanation of (A)
(3) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
4) (A)is corfect but (R) is not correct

)
33. Assertion (A) : f)evélopmental social welfare is a macro-level conception.

Reason (R) :  'Developmental social welfare attempts institutional change.

In the context of1 these two statements, which one of the following is correct ?

Code :

(1) " (A) is correct but (R) is not correct.

(2) = Both (A) and (R) are correct.

(3) (A) is not correct but (R) is correct.

(4) Both (A) and (R) are not correct.
s (1T 1 Faper
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30.

31.

32.

33.

AweA (A) : ' THI-TA-TAg@E’ | a9 <F 1 AU Teh Fanefl 1 9ga alieh | qHeHE ad
6H°h’\| Helddl eh{Hl %l

HIT (R) : T -3 -fagquy fa=m safame gar § |

71 <M1 el & Ged H, frefafad § @ 9 1 wee w@ €2

e :

(1) (A)aﬁt(R)aﬁvﬁﬂﬁ%w(R),(A)ﬁﬂﬁw%n

2) (A) 3R (R) I T € W (R), (A) T | AR T T

3) (A) ¥&I & W (R) ToTd © |

(4) (A) TEd T W (R) T R . "'{H'

AfireRer (A) : TR e den wrifse faem™ Th-ga & T/ |
T (R) : QTS foRaT ST T LT skt SATE9HAT Tl SR el ar
T ST hel o Tedl #, Frefafed § 9 SiF-W %o w9l {2
%< ;

R) S T B | x‘/‘( |
Sﬁ'{(R < T ¥ SR (R), (A) T g8 e 2

R) SHI ¥& €, T (R), (A Elﬁﬂ?ﬁ }ﬁ%l
%ﬁ%m(mw%

(

. %

AHIT (A) : WWWWI%W cHehal TR Ufdehal TTd TS ohi STRIehT &l
gl ¥
SIT (R) : Tafire aeosTl steran ArTTSIeh JUSal o sid UREAReh fshal ¥ STafhal Scq= Bidt
Tl
T SHI el % Hed §, Frfafed § 9 &9 o we wd@ § 2
w |
e :

) 3R (R) S 7Terd % |

) & ﬂ’)aﬁ‘rﬂé%aﬁun),m)aﬁa@m%

(A) 3R (RY B HE €, T (R), (A) 1 Wl =re i ]
(A) T ¥ T (R) T B |

AfaeRe (A) : lﬁw\:rrqaw FTITI Th Jed-Td TR ¥ |
EFR'UT(R) foeRTETCHR THTST hedTUl HEIRTd JIeald o o1 T ohidl & |
s‘—raﬁ‘rmﬁr#mﬁﬁ frfafed § @ wF 1w T&@ 72

W:

(1) (A) & ¥ 7g (R) 7o 1 2) (A) 3R (R) I =& T |

(3) (A)W%,W(R)ﬂﬁ%‘l 4) (A) 3R (R) IH T E

s (TR .
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34. Assertion (A) : Uneven accumulation of life sustaining energies can alter the equilibrium
state.
Reason (R) : Internal disorders take a person to a non-equilibrium state.
In the context of two statements, which one of the following is correct ?
Code :
(1) (A) is correct but (R) is not correct.
(2) Both (A) and (R) are incorrect.
(3)  (A) is not correct but (R) is correct.
(4) Both (A) and (R) are correct. &
35. Choose the correct sequence of Constitutional Amendment Acts on the following quSj;ects in
the chronological order. [ r
(1) Right to Property, Preamble of the Constitution, Nagarpalica Act, Panchayati Raj Act
(2) Preamble of the Constitution, Right to Property, Panchayati Raj Act, Nagarpalica Act
(3) Right to Property, Preamble of the Constitution, Panchayati Raj Act, Nagarpalica Act
(4) Panchayati Raj Act, Right to Property, Nagarpalica Act, Preamble of the Constitution
i \
36. Choose the correct sequence of the following i}\"gocial case work practice :
(1) Person - Problem - Process - Place f i
(2) Place - Person - Problem - Process / | |
(3) Person - Problem - Place - Process f /
(4) Problem - Person - Place - Process \ ‘I/
37. Identify the correct chronological order according to theirsddtes of celebration in a year :
(1)  Women’s Day, Youth Day, Intérnational Litera{y Day, AIDS Day
(2)  Youth Day, Women’s Day&'ln_tﬁzrnational Literacy Day, AIDS Day
(3) International Literacy Day, Youth Day, Women’s Day, AIDS Day
(4) AIDS Day, International' Liiteracy Day, Women’s Day, Youth Day
38. Choose the correct sequence of the following enactment in chronological order :
(a) Apprentices Act @ . (b) Guardian and Wards Act
(c) Reformatory Sc'hools{Act (d) Children Act
Code :
1) (®) (), () () (2) (@), (b), (c), (d)
(3) + (d). (a), (B), () @) (© (d), ®), (a)
i -~
39.0 Put following staées given by Sigmand Freud in correct order :
(1)  Oral, Phallic, Anal, Latency, Genital
(2) Oral, Latency, Phallic, Anal, Genital
(8) .. Oral, Anal, Phallic, Latency, Genital
(4) Oral, Genital, Phallic, Latency, Anal
40. Id:ént_ify the correct order in following stages of group development given by Klein :
(1) ‘j' Orientation, Negotiation, Resistance, Intimacy, Termination
(2)  Orientation, Intimacy, Resistance, Negotiation, Termination
(8) Orientation, Resistance, Negotiation, Intimacy, Termination
(4) Orientation, Negotiation, Intimacy, Resistance, Termination
o [ RITN 1 Faper
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34.

35.

36.

37.

38.

40.

o [[[]

1 ,
; 3 (@), (),
39. {

AmeA (A) :  Shad Tl o foaig eTrereses Seiied o1 STHHM Hoor dqer i fefa o afted o
TRl T |

SIT (R) : sTiafier faerr =afaq o1 sTqe ot feafa § & <1 wehd 1

ST < w6 Hed ¥, fFrfafad § @ o9 91 HE g 2

<

1) (A) §&1' 8, Ry (R) TTe@ 1 2) (A) 3R (R) S Terd 1

() (A) T T Y (R) FA T (4)  (A) iR (R) 3 W E

r
frafafga fawl Gdst dfaum gemea afufTam = @& 9 § sy i
(1) Hufd =1 AfYRR, Giaem 1 J&drer, TRufah sfuf=m, g=md Wﬁfﬂﬁ'ﬂﬂ 2
(2) HfY™ i TEATeHT, Hafd 1 SRR, Y= TS SAfTFH, TRt Stuf=m
(3) HU 1 AfRR, WU i Y&iTeH], =Rl TS AT, TR stfafaH
(4) EmEd TS eAfufem, dafa 6 eifeRr, TR sifufrad, gesm o T

{

TS Safades w1 Ugfa § fAfafad o & e Hae .
(1) oAfR - A& - 9fshal - T (2) o - AfK] - FHE1 - Yishan

(3) oAl - HHET - TIM - ik (4) r-fww'—sq_ﬁa—wm—m

9§ AT SH 9l f=fafed feadi &t S 19 STH dﬁﬁmﬁmﬁ%aﬁﬁq :
(1) wfgen feom, Fon feam, siadftea wera foow, wed foom

) I feam, Afeen feag, simisda wmarar foog, 1=y foog

(3) SAiedra werr feow, o fgog) wieen foow, Ted feod

(4) TeH feay, Fai ETSJQEIT;E‘:TH, afeet fead, gan feow

o

ffafad sfafam=l <l e FATER St ST
(@) Ty ofufem (Qf=fmoe) (b)) TR T aE =
(c) froprie wpem T (d) Toee TR
%< -
(1) (b (C)r-(a%/ (d) 2) (@), (b), (o), (d)
(b; (©

@) (©) (d), (b), (a)

Wmm%&m fr=ferfEd =l o1 9& e | ey
(1) oiRd, e, T, aed, SAftea (2)  ARa, oedl, Hias, Ta, Sftea
(3) .. 3R, e, Wfereh, deHd, Sftea  (4)  oRa, Sifted, Has, aed, T

FA g1 U U F9E & o o Frefafed =R < 9@ %9 o ey
(1) e, Sa-<fa, wf, siqdm, T
(2) * YeiEH, Sadn, gfady, sa-<id, qEifd
(3) HeiEd, gfelly, ara-=fid, Siadd, qEifa
(4) YeEA, Sa-=fd, siad, gfay, gefa
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41. Which one of the following pairs is correctly matched ?

(1) Skinner -
(2) Anna Freud -
(3)  Erich Fromm -
(4) Elizabeth Hurlock -

42. Which one of the following pairs is correctly matched ?

Operant Learning Theory
The unconscious Mind
Hierarchy of needs

Ego Psychology

Ty

(1) Description of experiences - Empirical Research /
and observations {

(2) Making generalizations and - Applied Research f
Theory building y

(3) Finding solution of immediate - Fundamental Research f
problem !

(4) Conducting observations for

discovering facts

43. Which one of the following pairs i

AN b
%Iitativ.e Research

|'I |

s not Correctly m%;}ed ?

(1)  Fair distribution of resources - Equity

(2) Equal rights for all V3 Equaht)r

(8) Fostering of social trust f % Cohesion
(4) Availability of services ir'l; o € - Accessibility

discriminatory manner

44. Match List-I and List-IL and choose the correct answer from the code given below :

List-I \ (

(Proponents)

(a) - Toselandand Rivas
, (b) Balgopal «
() Karl Marx |
(d) Erich Fromm
Code : '
L@ (b (C) (d)
O @) @ 6@ 6
@ @) @ 6 )
@) @) 6 @) ()
@ O @ @ W)
Nt \IHI

List-II
(Concepts)
i)  Allogenic Conflict
ii) Emotional Bond
iii) Escape from Freedom

iv) Economic Determinism

18 Paper-II
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41.

42.

43.

44.

frfafed & @ 9 § 39 gafeq €2

1) f&w foramuga erferm fagr<

2) TN HES e AfKTSh

(@) e wH SRS 1 TGIshH

(4) UfASTaY Tl 3T Ao

frefafed § 9 % @ g gafea 72 p
(1) 3TI¥El a1 STkl 1 0 STV MY J 2

HIYNOMRT0T a1 a1 g GO e -

(2) Rl WY

(3) TcehIfcieh ST Rl HHIYM T Hiferer T,

(4) < T I I F ferw STeceR e 'i
A AV

frfafed # 9 ®F 91 I afad @« 2
(1) HareEi 1 3faa faao
2) 9l @ gHE SR

@ s

(3) HmHITSTeh forgemd sl aIgre N wufm |

(4) T A @ Gl FrSmge - e
J

T - 1 FS - 1 ¥ e G R SR A T T e T R 5w IR A

0 @) (i)
eonon7 [ HHHAAIA

o1

(vmmasw) |

d)
i

iii

(=

(
(
(i)
(i)

)

(iv

gt - 11
( TTYTT )
LISIEER L]
BICEIRCC |
A § AW
afeieR fraRumErg
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45. Which one of the following pairs is not correctly matched ?

(I) Rules governing the behaviour - Norms
of group members
(2) The potency of goals and - Valance
objects in the life space of the group
(3)  The ability of group members to - Cohesion
influence one-another
(4) The degree of agreement regarding goals - Consensus -
and group phenomenon .'I";
Instructions :  Read the passage below and answer the questions 46 - 5d that follow ‘based

on your understanding of passage.

It is right time for India to create a Uniform Civil Code. While*we are governed by the same
criminal and civil laws, in matters of marriage, inheritance, succession, diyorce and adoption, we
live largely by the personal laws of our religion. Each Communlty has its own distinctive practices,
but they are all unfair to women in their different ways. While Hindu, Christian and Parsi laws
have been codified and amended over time, ma»fly aspects'of Muslim personal law remain
unlegislated, and left to the vagaries of Islamic ]urlsprudence and practice. Hindu personal law
was codified into four acts in the 1950s, and aménded oner the years. While it is still not fully
gender-just, it was certainly a radical leap for women’s s. Christian personal law, already
codified, has been reformed by Parliament and the courts/fafter much community mobilisation.
Muslim personal law remains uncodified in many aspects, thoughrthe courts have steadily expanded
rights for Muslim women. While it is eas%r to make rhetox?lcal arguments about gender equality
and securlarism, it is much harder to applyi these principles across the uneven terrain of inheritance
and property, marriage and divorcey adoption and guardianship. Different communities can have
far-apart worldviews on the same_gubject -a Hindu marriage is a sacrament, a Muslim marriage is
a civil contract with spelt-out obligations - so a common code would have to be acceptable to all. It
should aim not to deprive any woman of the benefits that she currently has, under any personal
law. The Uniform Civil Code is not just a matter of gender justice; it is also a question of how a
nation accommodates its own di ersity. In India, freedom of religion exists with other rights like
equality and non-discrimination. We need to imagine a common civil code for the sake of more
fairness in our families, our religious communities, and our nation. All women, across faiths, are
owed the rights of edqual citizenship.

g
f

46. The Uniform Civfl Code is also related to :
(1) Cultural diversity

(2) » Gender juétice
(3) Cultural diversity and gender justice both
(
(4). Family integration
47. The perrsonal laws of the community is still remain uncodified.
(1) Hindu (2) Muslim  (3) Christianity (4) Muslim and Sikhs
o [N 2 Faper
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45. frefafea # @ $F- 3 gafed 7@ 82

(1) 98 % HS&l & FEeR &l YAfHd w1 et fgw - #ASe

(2) EHE % Site el H A&l 9U1 3Ga¥Al hl Jored] S EISEREG|
(3) T - TE hl YHITId T i L & TSI ! &ar - HHfed

(4) & T TYE TAMA o oY H FeAfd ot feilt - a9

fdwr:  Frafafea T e stemem Sifg e 30 & o1 o Ukqd WeAl (46 - 50) T ST WU
SR W I ST | P
T 371 T § o IR wHe AT digdr aem | wﬁwwéw%mfwaﬁtﬁﬁaaﬂﬁ
SN JNfed B ¥, g foare, SafieRr qetre den e o % el § qe: %ﬂmﬁaﬁ%qﬁwwﬁ
HAFT 1 T TS w0 fafere gerd ¥, v o |l TerT-ster w9 9 gfeensii & 9@ T
T Tl feg, ST, IR S 1 wiEdrs R ST e § IR we ke aT G off 8 g €,
gﬁﬂﬂqﬁww%agﬁﬁqmaﬁ%aﬁﬁWﬂéww%aﬁtﬁmﬁaﬁmﬁw%w
- FgE % Wl SIS o T B RWW@WSO%Wﬂ*W@THﬁ@ﬁW@WW%
3l et ool # ol wene oft 21 9% €1 raf T o g S - gew R fa T ave =t 7@ g, fw
sft Py w0 & o3 i el 5 foem ot Faw/E | S e A 5 s et Sdes fhe S
%ﬁwﬁaﬁ%mwawmﬁﬁwﬁ@% g1 g ¥ Teqell #f gfe ¥ giem
THA A STHfEdeg §, Selifeh =mener % - i gieem 311 % fererrl H gfg w1 71 TR of -
T HHRI T {1 2 S H ooy Fe 3 T €, {eq Seferhi ud s, foreme o e,
T T SR TR (W)ﬁm@g@%mﬁﬁﬁmaﬁmwwm%l TH
4 fon e fafun el 91 i o €1 6 e & - o Frte o e i 2, e e 0
fﬂﬁﬁ@g@fﬂ@m%‘,ﬁﬂﬁaﬁaﬁmﬁ@@m%—m:wwaﬁmaﬁaﬁ@wﬁ@maﬁm THH
3IEeTT B =Mfe foh g off Afgen foreh oft vd=at &ff o ded 319+ adae el & sfed 7 81 99 A
ifedl <heret T~ o0 eiell =1 1 Aol TE ¢ 7€ Th 5o o € foh U <91 fohe wehn @ srot feforeran
STE 1 E | W H, efHen Tl o He-Hie FH SR Forerd S o=y stfuer oft €1 e ot aiem,
3T wififen TSR ql BUR U § iR ifyes frouerar & fofw e w9 AFTRe diedm ot shedal &
Aol & | |eft ¥ 1 oY Afgel 1 GHH ARG o SRR S =0T |

s6.{ s =i o S Feafetan 4 e 1 32
(1) wiehfae fafeema
2) . Eff - ge9 ==
(3) Wﬁ%%ﬁmawﬁr—wmﬁ
(4f~ TREm TRt

47. ! qSE % TEAA A 319 ot THfeaes €1
1 feg (2) Hfem (3) TuE 4) Tfem qon e

s (TR 2
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48. Hindu marriage laws are still not :
(1)  Fully governed by the community
2)  Fully grant justice to women

)
(8)  Fully accepted by priests
(4)

IF i

/

[

4)  Fully in favour of equal opportunity to all members of family such as women, children,
the aged '
49. Hindu marriage is a sacrament unity which means it is recognised as :
(1) One of the sanskar (2) A contract as divorce is porssible
(3) A part of uniform civil code (4) A right of equal citizenship

F ks
50. The most appropriate title for the above parag)?h I-nail be : ;

(1)  Uniform Civil Code (2) eed for Umform Civil Code

(3) Gender Justice and Civil Code  (4) | Futurg‘of d1v11 Code

-00o0-

B (

( .
-
Vi .
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48. T foam e A9 s s@ =& T2

(1) FHSE ) qola: wenfaa §

(2) Hfecneii & e qoi =g a1 §

(3) STl R qoid: weiishd €

(4) I Afgensd, a=i, I oY IRER F et TS 1 T TR I HH %h‘tr&ﬂ_?f%

>

49. fe< foar ws ufadt Teery &, fode a1 § fop g0 fefafaa d 9 fpg 9 H WIT&IHT?«F:TIEFI%7

(1) TF T&R (2) T ST i e Tl § [

(3)  EHM AN Gfedl 1 wr (4) HHM AR 61 SR
50. ST WA T Yo U Ideh 1 T 2 * ,, \Y

(1) S99 AFReR Ffgd (2) é:r—! AR fedT &1 STEwrER

(3) B - gew = iR A wied Wﬁm‘w%ﬁamwﬁw

;' “o00o0- f
!i ',{
4
;f
|
\
y
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